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wiEE MIUTREBFCERAMRBBENRRET XS

% o 1 - R B ¥ B B & @ W E
[k 4,455,900 + 93,147 4,549, 047
EEAGE 4,455,900
EERE 93,147
T DA { 4,455,900 x 53.85% (35% + (1 — 35%) ) 2,399, 502
B 4,549,047 + 2,399,502 6, 948, 549
—BREBES 6,948,549 x 53.85% ( 35% + (1 — 35%) ) — 342 3,741, 451
EBEE 6,948,549 + 3,741,451 10, 690, 000
HBREALE 10,690,000 x 10.00% 1,069, 000

EBEEN 10, 690, 000 + 1,069, 000 11, 759, 000



BERNRE MBI TS B ECER K B E o BRI 2T

% Lo BE - BRTiE B % B B i ® # =
BRI 4,549, 047
EEDRBRAES 4,549, 047
BREDRBRFAER 4,549, 047
EEHRREH 4, 455, 900
ETE#ESR 433, 500
1 EHE#ER 1.00 433, 500 433, 500
EEXERDRDRE 8 3,108, 300
2 EPUNE - B 1.00 270, 700 270, 700
3 BEEHEE * 1.00 353, 900 353, 900
4 BERFOHE i 1.00 1,242,900 1,242,900
5 BRAERSH i 1.00 379, 800 379, 800
6 REHEROMYFT LD : 1.00 861, 000 861, 000
% - |E * 441, 200
1 SRS 1.00 121, 800 121, 800
8 RS : 1.00 121, 800 121, 800
9 RIS : 1.00 197, 600 197, 600
R : 472,900
10 |MEEEM 1.00 472,900 472,900



BEARE

MBI T REBFCERAMRBBENRRET XS

% o BE - BRTiE B % B B i ® # =
EEEE 93, 147
E=BARE 40, 147
1 EHEARE 1.00 40, 147 40, 147
=
R 53, 000
12 ¥R 1.00 53, 000 53,000



Rtz -/ \vr—

MR T 2EBR(ERAR)BRMRRE RS

FE5:1
L F5 : ETEEENR B
% f I - BIRTE BAf H = B & # i &
HEE
A 1.00 75, 800. 00 75, 800
FAEHERAR (F%ET)
A 1.50 64, 800. 00 97, 200
HAf (A)
A 2.50 57, 000. 00 142, 500
HAf (B)
A 2.50 47, 200. 00 118, 000
& &t 282 h - 1.00=K 433, 500. 00 433, 500
5:2
&H  BRINE - BE 1)
% f I - IRTiE B H = B & # i &
HAf (A)
A 1.50 57, 000. 00 85, 500
HAf (B)
A 2.50 47, 200. 00 118, 000
Hiftg
A 2.00 33, 600. 00 67, 200
& 282 h - 1.00=K 270, 700. 00 270, 700
&5 :3
ZF  BEEHEE 1XEY
% b I - BIRTE BAfL ¥y B B & # 5 &
FAEHERER (F%ET)
A 1.50 64, 800. 00 97, 200
HAf (A)
A 1.50 57, 000. 00 85, 500
HAf (B)
A 2.00 47, 200. 00 94, 400
Af (C)
A 2.00 38, 400. 00 76, 800
& &t E%8eh : 1.00X 353, 900. 00 353, 900




Rtz -/ \vr—

MR T 2EBR(ERAR)BRMRRE RS

&5 4
ZF  ERFOHEST B
% f I - BIRTE BAf H = B & # i &
FAEHERAR (F%ET)
A 3.50 64, 800. 00 226, 800
HAf (A)
A 8.50 57, 000. 00 484, 500
HAf (B)
A 4.50 47, 200. 00 212, 400
Af (C)
A 7.00 38, 400. 00 268, 800
Hifrg
A 1.50 33, 600. 00 50, 400
& i 282 h - 1.00=K 1, 242, 900. 00 1,242,900
&S5 :5
L& F  BRERSHT B
% b R - IRTiE B H = B & # 5 &
FAEHERAR (F%ET)
A 1.00 64, 800. 00 64, 800
AT (A)
A 3.00 57, 000. 00 171, 000
HAf (C)
A 2.00 38, 400. 00 76, 800
Hifrg
A 2.00 33, 600. 00 67, 200
& i E%8eh - 1.00X 379, 800. 00 379, 800




Rtz -/ \vr—

MR T 2EBR(ERAR)BRMRRE RS

HS:6
& REHEROMY EL D B
% f I - BIRTE BT £ B & # i &
FAEHERAR (F%ET)
A 3.00 64, 800. 00 194, 400
AT (A)
A 5.00 57, 000. 00 285, 000
HEf (B)
A 3.00 47, 200. 00 141, 600
Af (C)
A 4.50 38, 400. 00 172, 800
B8
A 2.00 33, 600. 00 67, 200
& i E%8eh - 1.00X 861, 000. 00 861, 000
&5:7
& ¥ . ERIRE =ED
% b R - IRTiE BT = B & # 5 &
FAEHERER (F%ET)
A 1.00 64, 800. 00 64, 800
AT (A)
A 1.00 57, 000. 00 57, 000
& &t fE%8eh : 1.00H 121, 800. 00 121, 800
&5 :8
B PRIRE H=ER
% b K - BIRTE BAfL = B & # 5 &
FEHERER (F%ET)
A 1.00 64, 800. 00 64, 800
AT (A)
A 1.00 57, 000. 00 57, 000
& &t E%8eH : 1.00H 121, 800. 00 121, 800




Rtz -/ \vr—

MR T 2EBR(ERAR)BRMRRE RS

F5:9
£ mEEmE 1EHY
&2 f I - BIKTE By H = B Ol & % 5 &
HETE
A 1.00 75, 800. 00 75, 800
FEHRAR (BREH
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57, 000
& it {EZ8EH - 1.00ME 197, 600. 00 197, 600
=10
L IREEER IE=P)
&2 j HE - BIKTE By H = B Ol & % 5 &
FEHRAR (BREH
A 1.50 64, 800. 00 97, 200
AR (A)
A 2.50 57, 000. 00 142, 500
HER (B)
A 2.50 47, 200. 00 118, 000
AR (C)
A 3.00 38, 400. 00 115, 200
& B {EZ8EH - 1.00= 472, 900. 00 472,900
51
&2 f g - BIRTE By B = B Eid £ i &
EERAME
= 1.00 40, 147.00 40,147
& H {EZ8EH - 1.00 40, 147.00 40,147




RER-TBI/Svr— ML TS EECER R BB R R 2T

&S 12
& EFRER B
& f I - BIRTE BAf #H = B & # = 5 &
EBHRRE
= 1.00 53, 000. 00 53, 000
= it 1YE%HEH - 1.00K 53, 000. 00 53, 000






